230912.notebook

September 12, 2023

MAT 201-R41 Calculus | Schedule
Subject to Minor Revision
Monday [Week| What we're doing this week: Links
On Day 1, | will show you where things are on https://www.webassign.net/ and
https://harryzaims.com/ . It's all set up so you can find MY take on almost every
exercise I've assigned you, so I'm with you, 24/7, in a sense.
Traditionally, | give you the freestyle pep talk on the differential calculus, proving to
you that the slope of 2x is 2, which you know, and the slope of x*2 is 2x, which you
Jlikely don't. )
8/21/23 1 WebAssign
/21 As time allows, | will work some of the dreary exercisesin 1.1 and 1.2 that are meant| —E2nesen
to motivate the moves | make when I'm having fun with 2x and x*2.
Do Sections 1.1, 1.2%, 1.3
Jsections marked with * are 2-day sections. All others are 1-day sections. Each
week we meet 4 times, but each week counts 5 lecture.
Last day to Drop is 8/25/23
82823 | 2 sec1a, 1.:'. 1.2' ! harryzaims.com
1.7,1.8
9/4/23 3
/4] Review for Test 1
Test 1, Chapter 1, Open Dates: Monday, 9/11 thru
9/11/23 4 Wednesday, 9/13
2.1%,2.2*
9/18/23 5 2.3%, 2.4is given 3 days.
afcir [ FE¥ IEH 2T
Planning a Writing Assignment over Chapter 1 next week.
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Find the instantaneous slope of a function at a point by taking the limit of the difference
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Prove the statement using the £, § definition of a limit.
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